

D1st, 2nd + D2nd, 1st
 $\uparrow$

p. 126

Use the Product Rule to differentiate.

$$\begin{aligned} \textcircled{2} \quad f(x) &= (6x+5)(x^3-2) \\ f'(x) &= 6(x^3-2) + (3x^2)(6x+5) \\ &= 6x^3 - 12 + 18x^3 + 15x^2 \\ &= 24x^3 + 15x^2 - 12 \end{aligned}$$

$$\begin{aligned} \textcircled{6} \quad g(x) &= \sqrt{x} \sin x \\ g'(x) &= \frac{1}{2} x^{-1/2} \sin x + \sqrt{x} \cos x \\ &= \frac{1}{2\sqrt{x}} \sin x + \sqrt{x} \cos x \end{aligned}$$

OR $\frac{\sin x + 2x \cos x}{2\sqrt{x}}$

$$g(x) = \frac{a}{b}$$

$$g'(x) = \frac{b \cdot a' - a \cdot b'}{(b)^2}$$

Use the Quotient rule to differentiate.

$$\begin{aligned} \textcircled{8} \quad g(t) &= \frac{t^2+4}{5t-3} & g'(t) &= \frac{(5t-3)(2t) - (t^2+4)5}{(5t-3)^2} \\ & & &= \frac{10t^2 - 6t - 5t^2 - 20}{(5t-3)^2} \\ & & &= \frac{5t^2 - 6t - 20}{(5t-3)^2} \end{aligned}$$

Find $f'(x)$ and $f'(\frac{\pi}{6})$.

$$\textcircled{18} \quad f(x) = \frac{\sin x}{x} \quad \text{at } c = \pi/6$$

$$f'(x) = \frac{x \cdot \cos x - (1) \sin x}{x^2} = \frac{\pi/6 \cos \pi/6 - \sin \pi/6}{(\pi/6)^2}$$

$$= \frac{\frac{\pi}{6} \cdot \frac{\sqrt{3}}{2} - \frac{1}{2} \left(\frac{6}{6} \right)}{\frac{\pi^2}{36}}$$

$$= \frac{\frac{\pi\sqrt{3}-6}{12}}{\frac{\pi^2}{36}} = \frac{3(\pi\sqrt{3}-6)}{\pi^2} = \frac{3(\sqrt{3}\pi-6)}{\pi^2}$$

Find the derivative.

(44)

$$y = x + \cot x \quad y' = 1 - \csc^2 x \text{ OR } -\cot^2 x$$

(54)

$$h(\theta) = 5\theta \sec \theta + \theta \tan \theta \\ = 5 \sec \theta + 5\theta \sec \theta \tan \theta + \tan \theta + \theta \sec^2 \theta$$

(60)

$$f(x) = \tan x \cot x \\ = \tan x \cdot \frac{1}{\tan x}$$

$$= 1 \\ f'(x) = 0$$

★

$$y = \tan x \\ y' = \sec^2 x$$

$$f(x) = \sec x$$

$$f'(x) = \sec x \tan x$$

★

$$y = \cot x$$

$$\frac{dy}{dx} = -\csc^2 x$$

$$y = \csc x$$

$$y' = -\csc x \cot x$$